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QUESTION 1

BiyCo has two development projects currently in progress developed by independent teams. One team builds the
Quoting application. Another team builds the Policy Administration application. Development takes place on different
servers 

with separate rulebases. 

The Quoting application is built on the Policy Administration application. 

The Policy Administration application requires enhancements to support other areas of the business. 

The Quoting team is notified when the Policy Administration application is versioned. The Quoting team responds by
importing a HAP containing the new version. 

Select the two best practices to minimize potential development conflicts and work with the most current version of the
Policy Administration application. (Choose Two) 

A. Periodically rebase the Policy Administration application. 

B. Switch between applications when modifying rules. 

C. Perform branch reviews when merging brandies. 

D. Share rulesets between both applications. 

Correct Answer: CD 

 

QUESTION 2

APP Studio created a data type in the Organization layer for Quote data called BCO-Data Quote. How do you help
users find rules from this data class when working in APP Studio? 

A. Create a BCO-QI -Data-Quote class that inherits from BCO Data-Quote. 

B. Use a Data Reference to configure the rules that you need from the BCO-Data-Quote class. 

C. Copy the fields In the data class to the BCO QT Work- class so all subclasses can see the Quote rules. 

D. Select each rule you want to reuse in the application as a relevant record. 

Correct Answer: D 

 

QUESTION 3

An application consisting of a single case requires sending correspondence at a designated time with minimal delay.
The existing solution uses an assignment to pause the case until an SLA invokes the escalation activity that sends the
correspondence. Occasionally there is a delay in sending the correspondence. 

Which two factors contribute to the delay? (Choose Two) 
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A. The number of queued SI A objects 

B. Multiple open assignments on the same case 

C. Error handling for locked items 

D. Correspondence rule configuration 

Correct Answer: AB 

 

QUESTION 4

XYZ, Inc. is multinational software interested in deploying a worldwide application as soon as possible. The application
currently does not have requirements that depend on its user\\'s geographical region. An outside consultant suggested
that the application initially be generated with a framework and implementation layer. 

Which three questions do you ask to validate the outside consultant\\'s recommendation? (Choose Three) 

A. Can the framework layer instead consist of multiple built-on applications? 

B. How many languages and locales must the application eventually support? 

C. Is there a reason why this decision cannot be made at a later time? 

D. Is there an intent to market the framework layer to other companies? 

E. What is the name of the first division or region that uses the application? 

Correct Answer: ACD 

 

QUESTION 5

Select two ways for queuing an item for a queue processor. (Choose Two.) 

A. Use the Queue-for-processing method 

B. Use Utility smart shape 

C. Use Run in Background smart shape 

D. Use the Queue for -agent method 

Correct Answer: AC 
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